


Year 5 Unit 4—Fractions

They are called improper fractions.

Equivalence Having the same value Improper A fraction greater than one whole
....... Ly By Fraction
I 2 &
2 4 16
+2  2+4 8+16 8
=05 =05 =05 5
Proper A fraction smaller than one Mixed Written as a whole number and a
Fraction whole % Number proper fraction . G
2 3
3 10 1% %
I+ 12
0 I 3 3 2
I I I I I I I
I I I
0 1 2 3 4 S s
3 3 3 3 3 3
improper fractions
3 4 5 6
3. 3+ 3 and 3 are equal to or greater than |.

Equivalent Fractions




Year 5 Unit 5 —Multiplication and Division .

2

O

[52+4—13
1 3
4]ls 12

OO@@OOO
EKMW@

856 +4=214

Hundreds Ten

\ S
Multiplication
I SImT [ T
reose [ Yor [ o= © 7
0000000 | I
0000000 34 © 0o
000{0000 X 5 © 0
000000l 0 [| we—"o
'e 1826 x3=5478 |
Th  H | T O
1 8 2 <]
s 3
5 - 7 8
2 1
Division —written methods
= [ Hondets

T

0000 ....r

Remainder— The amount left over after a division

53+ 4=1311]

53

13113113 [13 |1




Year 6 Unit 7
Percentages

.

Percentage means out of 100

Percentages on a hundred grid _—
6 terths
00/ = avihoke = 100 hundredths :
| | 1 b tenths and 3
7 hundredths h If L”hg 3
7 out of 100 ndredt
= 7/ 63 hundredths
g | b3/
27 H
F.f [ -
B — [
B 3 hundredths
Equivalence
This akn 70 out of 100 & = b .
70 » megs ——»  SqUOrES —» B — -"u'l"-l;ﬂér;dt'r*ﬂ
100 70~ 100 70 "hndredths® sezza=aia -
= 7 ‘tentrs” S
07

Find the percentage of an amount using mental methods.

Find 65% of 80 Method 1
65%=(10% X&) + 5%

=(8x6) +4

|86 |88 B8 |8 |88

= 54

For bigger percentages it is sometimes easier to take away from 100%  Method 2
65% =50% + 10% + 5%
=40 + 10 + 4

=54

@whsto_maths




Year 6 Unit 8
Metric Conversions

\ y
Metric Units
The measurement of somethin i
Length ; ) ’ g Length Capacity Mass
rom end to en M km ml
tonne
mm m | kg
C ; The maximum amount that
apacity ) )
something can contain
Mass The amount .Of matter that
makes up an object or substance
Length Mass
+ 100 + 1,000 + 1,000

/\f\f\ N\
COU || O

There are _10 millimetres in 1 centimetre. There are 1.000 grams in 1 kilogram.
There are 100 centimetres in 1 metre. There are 1,000 kilograms in 1 tonne.

There are1,000 metres in 1 kilometre. .
— Imperial Measures

16 ounces = 1 pound
14 pounds = 1 stone

Capacity
=~ 1,000 Feet and inches
Pints
/—_\ 8 pints = 1 gallon
mil |
\_/ Pounds and ounces
x 1,000 12 inches = 1 foot
linch ~ 2.5cm

) ) 5 miles ~ 8 km
There are 1,000 millilitres in 1 litre.

% 8 X8

One thousandth

One thousandth of a litre 40 miles ~ 64 km




Year 6 Unit 9—Ratio (%)

What is a ratio?  For every 5 Blues there are 3 pinks

This is the ‘whole’ - blues and pinks together This represents the 5 blues

| f ‘ ' This is the

[ ] ‘whole’ -
55 blues and
\ m J U pinks together
¥ Y
This represents the 5 blues  This represents the 3 pinks This represents the 3 pinks
Simplifying a ratio Order is important
Cancel down the ratio to its lowest form "For every dog there are 2 cals”

l k. 4 Dogs: Cats b L)

"For every © days of rain there are 4 daus of sun” 12

6 4_ |_| |_| | | | | U Find the biagest common
\

l A+ g N . L ]
| factor that goes o al Tre ratio hos ’[r:: be, w;’l’[’[m n the
| oarts of the. ratio same order ¢g the information &
bg 1 r i SUnN glen

Dj mulliples nto them s 2)

For every 3 daws of ran There are 2 daus of sun” — when the happens Twice the ralio becomes G4

For & and 4 the buagest _
5 2 Djj ED] factor (number that @whrstorrmths

Dividing into a given ratio Ratio and fractions
Trees
James ond Lucy share. £350 in the ratio 34 Trees: Flowers — ————
(N r g
Work out how much each person eams ;p) ) 7 - =
Model the Question James ' I-III.IIII
James: Lue Flowers
) [ g ¥ bt
5 . 4 Djj } £350 There are 3 parls for rees Fraction of trees
Lucy MNumber of parts of in galp/—\ 3 %
' Total rumber of parts 0
Find the value of one part £350~ 7 = £50
;MEE"E-’BZWF ootveer D ore. part Tree parls 3 * Fower ports 7 = 10
(3 James, 4 Lucy) - £30
Put back into the question -
James = 3 x £50
James: Lu:u A

=4} 4

50 -} o

lU{.Lj 4 x £50 = £20(

(‘E 150:£200




Year 7 Unit 6
Applying Addition and Subtraction

\
Addition The joining of fwo or more numbers or In addition two or more numbers are joined
" to get one number which is the sum or the
quantities.
total .
Sum Totdl The result of adding; the whole amount

Subtraction When one quantity is taken away from

another

Difference The result of subtracting one number

from another

80 subtract 30 is 50.
The difference between 80 and 30 is 50

Commutative Numbers can be added in any order, but in

subtraction the order is important.

|a+b=b+a|

than it cost to purchase.

6+2=8
(4}
2+6=8
Associative In addition, no matter how numbers are o2 e ,00 _
: 0g0®® o =
grouped, the answers will be same.
(6 +3)+4
Inverse The reverse or opposite of an operation.
eoe 4+2=6 || e9% 6-4=2
2+4=6 J l 6-2=4
Perimeter The distance around a polygon. L
Perimeter = 2L + 2W
w P
Sameas: L+L+W+W
Profit Profit occurs when an item is sold for (Sakery)
more than it cost to purchase. g ‘ I I i k
Loss Loss occurs when an item is sold for less i ! 3 Expenses
Profit

Addition and Subtraction

Oddtion & commutative

«  Number Ines : -
»  Part/ Whok dagrams The order of addtion does not

change. the resut

Subtraction the order has to stay the same

- O 360 -147 =360 - 100 — 40 — 7 H T O HIT|O
20 | N Vaa®
0 w0 e o0 ® @ C X ] 1,87 412(7
\_/ o/
.... + .. .. + .... *  Number res help for addition and b5 42 -lz]4a]9
Modeling methods for addition/ subtraction subtraction
s Bar modek 6 + 3 -3 +« b « Working In 10's first aids mental

addfion/ subtraction
= Show your relationships by writing

@whisto_maths

Formal written methods

Remember the. place. value. of each cobmn
You may reed to move. 10 ores to the ores

S R tr ol +
foct Samiles cobmn to be able to subtract

Addition and Subtraction of decimals

0 can be used )

placeholder and aligrs the other valies

4 .38 I\
1o fill emply /
7 .9 0+ - fiem |
—— —  places with vabe [
f \
The decimal place acts as the X em

Perimeter problems

Perimeler is the lenath around the. outside of a polyson

The triange has a permeter of Aocm
Find the length of x

&m + &m + xem = A%em
[Gem + xcm = 25em
xem = %em

kosceks
Triange
notalion




App

Year 7 Unit 7

ying Multiplication and Division

\_
Product The result when two numbers are multiplied. 6 % 3 -
Factor Numbers we can multiply together to get _.\
another number. Factor Factor
Multiple The result of multiplying a humber by a positive | 6, 12, 18, 20, 24 ..... are all multiples of 6
whole humber
Commutative Numbers can be multiplied in any order, but in ceee 20
division the order is important. seses = oo
2x4 4x2

Inverse The reverse o

r opposite of an operation.

0900 3x4=12
eoee 4x3=12

0000 12.3-4
coee 12:4=3

Finding the mean amount s the average amount each
person would have. if shared out equaly

Ezra

Tre. mean rumber of blocks would be, © each

Multiplication methods @nrsto_mitrs || Division methods
Less effective method especialy . -
for bigger mulliplcation 5 5 64 - 7 5 |;
/ Short division 51 2
Long Mutipication with decimgis 7 3°5 84
= Grid method e ot
mulveation Perform mutipicatiors as integers Complex dusion
cobmn) Copeted €9 04X 03— 2x 3 Lompiex vision
aodion Make adustments to your answer to +24=+06+4
h the question 02 x 10 = A - -
Estimations: Usng estimations alows a malch the question % 5}; OO _3 Bredk UP; hi dusor Ung
‘check” if your answer is reasondole aclors
Therefore 6 =+ 100 = 06
Order of Operations Area
Trigngle
Rectange /4 x Base x Perpendcular height
Base x Perpendicular height
O triangke. is half the size of the
rectangle it would fit n
[ Multiplication or Division ] Egg@ibgg,ﬂe/ndﬁgj;:ﬁ@ht ﬁﬂ :
[ Addition or Subtraction ] /\
Mean problems Multiply by powers of 10
Ly CLITTTTTTTTI ; L Orie
Onne (ITTTTT] 241
Eara (T TTT] total




Year 8 Unit 6
Prime Numbers and Proof

\
Product The result when two numbers are
multiplied. 6 x 3 =
Factor Numbers we can multiply together to get F -\ .
actor Factor
another number.
Multiple The result of multiplying a number by a 6,12,18, 20, 24 ..... are all multiples of 6
positive whole number
Square Number | To square a humber: just multiply it by 2
itself. 4 e 2'or2x2=4
4 squared is 4 x 4 = 16. Often shown with a )
little 2 in the corner like this: 42 = 16 30or3x3=9
that is said "4 squared equals 16"
Cube Number The result of using a whole number in a P
multiplication three times. 6x5xb =128
P =125
oty
Triangular A number that can make a triangular dot ldot 3dots 6dots 10 dots 15 dots
Number paﬁern N\ /N N\ N\
- /SN /SN VAR
1,3,6,10,15 IR, N
- AN

Lowest Common
Multiple

The smallest number that is the multiple of
two or more other numbers.

Multinles At 2

3—>6-—>9—>12-+15->18 —

|

I

01234567 8 91011121314151617 1819 20
5 - 10 - 15 =20
Multiples of 5

15 is the lowest common multiple (LCM) of 3
and 5

Highest Common
Factor

The highest number that is a factor of two
or more numbers.

4 is the highest common factor (HCF) of 12
and 16

Prime Numbers

A whole number greater than 1 that

can not be made by multiplying other whole
numbers. They only have 2 factors; one and
themselves

1| 2| 3| 4| 5| 6| 7| 8| 9|10
1112|1314 |15(16|17|18|19|20
212212324 25|26 (27|28 |29 |30
31/32|33(34|35/36(37|38|39 40
41|42|43 |44 |45 |46 |47 |48 |49 | 50
51|52|53 |54 |55 |56 |57 |58 |59 |60
61|62 |63 |64 |65 |66 |67 |68 |69 |70
717273 |74 |75 |76 (77 |78|79 |80
81|82|83 (84 |85|86 (87|88 |89 |90
91/92/93(94 |95 /96 (97|98 |99 100




Year 8 Unit 8 Multiplicative Change

Proportion A statement that links two ratios

Variable A part where the value can be changed

Scale Factor

The multiple that increases or decreases a shape in size

Conversion

The process of changing one variable to another

Conversion Graphs

mies

Labeling of both axes USIng your araph

5 vital

sobtions

This is alwaus a straight. ine. because as one. variabe
increases so does the other al the same rale

To make conversions between units you need to find the
point. 1o compare — then Tind the associated point by

Using a ruler helps Tor accuracy
Showing uour conversion ines help as a “check” Tor

Direct Proportion

As one variable changes the other changes at the same rate

4 cars of pop = £240
4 cans of pop = £140

|2 cars of pop = £720

4 cars of pop = £240 ¢
0 g . P >
L) [
= dears of pop = £120 ¢

This mullipier & the same
In the. same. way that this
would be. for ratio

Sometimes this & easiest
if you work out how much
ore. unt is worth first

eq | can of pop = £060

Ratio in similar shapes

Nges N Smigr Snapes a0 nol Changg
eg if a lnande gels bigger the angkes can
nol go above 18

The two rectangles are similar,

am

Corresponding sides i

2 R b’ M.
“ 3m o 4Pm D . - C fm - 1 Am bx
+ - &Y b . o
Im: Hmée ™~ Im: 5 m

@whisto_maths

Interpreting Scale Drawings

10em

(O picture of a car s drawn with a scale of 130

For every em on my image. &
30cm in real ite

is & [0cm

The car image is

mage. - Regl ife

= (" km: 30em y<
< \pl0em - 300cm4/ =

The car in real ife

mace. - Real ffe

e tm 5{Er'q :“:
=Ny Tem - 210 cm
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Year 8 Unit 9

Multiplying and Dividing Fractions

Unit Fractions

Fractions with a numerator of one,

y

I
Reciprocal A pair of numbers that multiply together to give 1 =
2 3
3 2

Multiplying Unit Fractions

| <

Iyl

Ports shaded

4 N3 12
~

Modeled:

3 Total rumber of

parts n the diagrom

Multiplying by an integer=repeated addition

4- X ‘1_ —_ i + i + i + i
f > | | i | 5| |5 How rr?m parls dre snaded?
Integer What each part represertts
(\Whok rumber) | | I | | | 8
oo LLLLLD o
— I rrl .=

Multiplying non-unit fractions

o . Fepest -
Shade in 3 Fpljﬁ 'l 3 x A = i Parts shaded
parts / o s 4 3
AV rOWS \
4 2 Total rumber of
/ \ parts in the diagram
- B
his many cobmrs This many rows
4
Dividing by any fraction Dividing an integer by a unit fraction
A -3 B “Trere are. 4 quarters n
? T Miltipiyng by Represerted | [ virole.
4 G reciprocal g | Therefore, there are 20
dves the o | = + = 4 quarters in 5 viholes”
2 4 SATE = 5 —_—
5 X ? oulcome How many quarters 5 - l— =0
aren 17 4

@whisto_maths




